'ww e an
RACING COMPONENTS

WORX RACING SEADOO AIR FILTER

PART # - WR04054

MODELS: Yamaha EX

INSTALLATION INSTRUCTIONS
1 x WR04043 4-inch throttle body adapter
1 x WR04054 Mounting Bracket
1 x WR04020-5 Air Filter 4 inch
1 x WR04020-6 Air Filter 1 inch with hose clamp
1 x 4-inch hose clamps
1 x Bolt kit

IMPORTANT: READ ALL INSTRUCTIONS BEFORE PROCEEDING WITH INSTALLATION

1-
2
3-
4-
5.
G
7.
8-
B

10-

Make sure ski is secure and on a flat surface. Remove lanyard and disconnect battery.
Remove seat, rear plastic seat mount bracket and side plastics

Disconnect fuse box, ECU and angle sensor remove from air filter housing

Disconnect breather filter from air filter hose then disconnect air filter hose from throttle body
Remove OEM air filter box from ski.

Fit fuse box, ECU and angle sensor to the WR04054 mounting bracket that’s supplied
Install WR04054 mounting bracket to ski and reconnect fuse box, ECU and angle sensor
Install throttle body adapter (WR04043) and air filter element

Install the breather filter (WR04020-6) to the breather hose. Mount Breather high in the
engine bay, do not twist or restrict this hose.

Install seat base and reconnect battery.

Maintenance. Keep the airfilter hose and element free of lubricants and excessive water. Check
clamps and deterioration of hose over time before using your Watercraft.

Thank you for purchasing Worx Racing components products. We firmly believe that Worx
Racing Components products are among the finest watercraft parts available. A great deal of
time and effort has gone into the design and development of this product to ensure that it will
perform to the highest standard and that installation is a relatively straight forward and simple
procedure. If you have any questions or comments on the performance and/or installation of
our products, please contact us at the numbers listed on page one or through your local Worx

dealer.



Remove Seat Base Screws

Remove Screws

Press down on laches and
remove air box cover




Disconnect fuse box, ECU and
5 | angle sensor remove from air
filter housing

Remove OEM air
filter box from ski.

Disconnect breather filter from
6 air filter hose then disconnect
air filter hose from throttle body

Fit fuse box, ECU and
angle sensor to the
WRO04054 mounting
bracket that’s supplied

Unscrew this 2 bolts on
both sides

Fuse Box Holder
4 x M6 x 30 cap
4 x M6 washer

4 x spacer

4 x Y4 x % washer

Bracket mount
4 x M8 x 20 cap
4 x M8 spring
washer

4 x M8 washer

Angle sensor
2xM6x16
cap

2 x M6
washer

2 x M6 nut




11

Install WR04054
mounting bracket to
ski and reconnect fuse 10
box, ECU and angle
Sensor

Install the breather filter
(WR04020-6) to the breather
hose. Mount Breather high in

the engine bay, do not twist 12
or restrict this hose.

et L LA

Install throttle body
adapter (WR04043)
and air filter
element

Z
ﬁ
=
o
—
—
JS—
P
—
e —
-
2 m——
.
-
-
R
e
i
B
-
il
-
|
-
=
-
-
-

Install seat base and
reconnect battery




